AP Calculus Exam ‘Pre}o ﬁssignment #2  Name

Multiple Choice
1)
V=nf02n(1—cosd))za,’q)=ch02n(1—2cos¢>+cos2 qb)dq) =.ﬂ:f02n(1—200s¢+m de
- D)
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=4cost +12cos12t %(1) =4cosl+12cos12~12.287 E)
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) dx?

if x=2cos¢ and y =sin¢.
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6) The length of » =3csc¢ from ¢ =% to ¢ = %Tn is:

x=rcosf =3csclcosO =3cotld = % =-3csc’ 0

y =rsinf =3cscOsinf = 3=>dy

3n/d 3/ 4 3w/ 4 i1
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7) Find the slope of the curve r =cos2¢ at ¢ = %

dy cos2¢(cos¢) - 2sin2¢(sin ¢)
E - —cos2¢(sin ¢) —2sin 2¢(cos ¢)

(z). ;@2@(;) G4 A)
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X= cos2¢(cos¢) y= cos2¢(sin ¢)

e

8) Find the first quadrant area inside the rose, » = 3sin2¢, but outside the circle, » =2

A= %f’gﬂde 3s5in2¢ = 2 = sin 26 = % = ¢ ~0.365,1.206

a1 [ [(3sin2¢)2 - (2)2]d¢ ~1.328

2 v 0.365

D)

9) The common area inside » =2sin¢ and r =2cos¢ is:

A=%f(fr2d0 A=2(%f://j(2cos¢)2 d¢) f “4cos’ odo = 4f“”wd¢ 2f://j(1+cos2¢ )d¢
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10) The area enclosed by the rose, » = cos2¢ is:

1 | pon | panl+ cosd | px 1 pon
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